Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order #	159 [GRAPPLE CYLINDER LE	AK]		Status	COMPLETED
Entity Name	Battle Lumber Co.	Budget	1400 WOOD YARD	Created	11/26/2018
Priority	Normal	Assigned	Jeff Sherrod	Due	11/19/2018
Work Type	CORRECTIVE	Customer		Completed	11/19/2018
			Asset		
Asset ID	91425 [325D CAT KNUCKLE I	BOOM]		Schedule	
Group Tree	\3200 BATTLE TIMBER CREW	3 Manufacturer	CATERPILLAR		
Category	HEAVY EQUIPMENT	Model	325D		
Туре	KNUCKLE BOOM LOADER	Serial #	C8L01680		
			Logs		
Down Hour	rs: 1	Hours : 503	1		
		:	Services		
	Service Code	Service Description			Estimated Hours
MAINTENANCE					
[√]	R&I CYLINDER	REMOVE AND REINS	TALL CYLINDER		1.00

Parts

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order # 501 [Busted hose on grapple] Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 12/18/2018

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 12/19/2018

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 **Manufacturer** CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.750000 **Hours:** 5127

oga Dimmy

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[√] HOSE REPLACEMENT HOSE REPLACEMENT 1.00

		Parts				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
T28D	EXCEEDS SAE 1/2' 100R2AT DIEHARD COVER	LUMBER WAREHOUSE[]	FEET	\$1.760	2.00	\$3.52
T2800-0813	0813 ORFS FEMALE	LUMBER WAREHOUSE[]	EACH	\$4.420	2.00	\$8.84

Signatures

Status Note Recorded By Date

NEEDS REVIEW Roger Mckenzie 12/18/2018

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order #	526 [GRAPPLE CYLINDER	Status COMPLETED

BYPASSING]

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 12/19/2018

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 12/19/2018

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 1.500000 **Hours:** 5135

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[√] R&I CYLINDER REMOVE AND REINSTALL CYLINDER 1.00

Parts

Signatures

Status Note Recorded By Date

NEEDS REVIEW Roger Mckenzie 12/19/2018

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order #	1635 [Hydraulic leak]	Status COMPLETED
--------------	------------------------	------------------

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 2/12/2019

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 2/13/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 1 Hours: 5350

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[\forall R&R CYLINDER REMOVE AND REPLACE CYLINDER 2.00

Parts

Part # Description Location Unit of Unit Cost Quantity Total Measure

#09 AW68 HYDRAULIC FLUID AW68 HYDRAULIC FLUID BULK LUMBER QUARTS \$4.880 1.00 \$4.88 WAREHOUSE []

Signatures

Status Note Recorded By Date

NEEDS REVIEW Roger Mckenzie 2/12/2019

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order #	1744 [Hydraulic cylinder]				Status COMPL	ETED
Entity Name	Battle Lumber Co.	Budget 1400 WOOD	YARD	С	reated 2/19/201	9
Priority	Normal	Assigned Roger Mcken	zie		Due	
Work Type	CORRECTIVE	Customer		Com	pleted 2/19/201	9
		Asset				
Asset ID	91425 [325D CAT KNUCKLE	BOOM]		Sch	nedule	
Group Tree	\3200 BATTLE TIMBER CREV	V3 Manufacturer CATERPILLA	.R			
Category	HEAVY EQUIPMENT	Model 325D				
Туре	KNUCKLE BOOM LOADER	Serial # C8L01680				
		Logs				
Down Hou	rs: 1	Hours: 5370				
		Services				
	Service Code	Service Description			Е	stimated Hours
MAINTENANCE						
[√]	R&I CYLINDER	REMOVE AND REINSTALL CYLIND	ER			1.00
		Parts				
Part #	Description	Location	_	t of Unit C asure	ost Quantity	Total
496-3429	VALVE	LUMBER WAREHOU:	EAC SE[]	CH \$243.	960 1.00	\$243.96
		Signatures				
Status	Note			Recorded By	Date	
NEEDS REV	ÏEW			Roger Mckenzie		2/19/2019
R	rger					

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order # 1782 [Wire remote to loader for Status COMPLETED

saw]

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 2/21/2019

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 2/21/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 2 Hours: 5372

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[√] DIAGNOSTIC DIAGNOSTIC ELECTRICAL 1.00

ELECTRICAL

Loyer

Parts

Signatures

Status Note Recorded By Date

NEEDS REVIEW Roger Mckenzie 2/21/2019

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



		_	
Work Order#	2396 [Hvdraulic leak]	Status	COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 3/20/2019

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 3/20/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.250000 **Hours**: 5502

Services

Service Code Service Description Estimated Hours

MAINTENANCE

oges

 $[\sqrt{}]$ HYDRAULIC LEAK HYDRAULIC LEAK 1.00

Parts

Signatures

Status Note Recorded By Date

NEEDS REVIEW Roger Mckenzie 3/20/2019

6/9/2021

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 2598 [Hydraulic leak] Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 3/30/2019

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 4/1/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours**: 5610

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[√] HYDRAULIC LEAK HYDRAULIC LEAK 1.00

Parts Part # Description Location Unit of **Unit Cost** Quantity Total Measure LUMBER T28D EXCEEDS SAE 1/2' 100R2AT FEET \$1.760 2.00 \$3.52 WAREHOUSE [] DIEHARD COVER T2800-0813 0813 ORFS FEMALE LUMBER 2.00 \$8.84 **EACH** \$4.420 WAREHOUSE []

Signatures

Status Note Recorded By Date

NEEDS REVIEW Roger Mckenzie 3/30/2019

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 3000 [STANDARD] Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 4/18/2019

Priority Normal Assigned Roberson, Todd Due

Work Type 500 HR SERVICE Customer Completed 4/20/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule 500 HOUR SERVICE

Group Tree \3200 BATTLE TIMBER CREW3 **Manufacturer** CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 2 Hours: 5689

Services

Service Code Service Description Estimated Hours

MAINTENANCE

 $\left[\sqrt{}\right]$ 500 HR SERVICE 500 HR SERVICE 1.00

		Parts				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
7791	NAPA OIL FILTER	LUMBER WAREHOUSE[]	EACH	\$7.130	1.00	\$7.13
6607	NAPA AIR FILTER 6 2503	SI- LUMBER WAREHOUSE[]	EACH	\$39.080	1.00	\$39.08
6595	NAPA AIR FILTER 61-2	2504 LUMBER WAREHOUSE[]	EACH	\$31.590	1.00	\$31.59
326-1644	CAT FUEL/WATER SEPERATOR FILTER (33606)	LUMBER WAREHOUSE[]	EACH	\$33.340	1.00	\$33.34
1621	NAPA HYD FILTER	LUMBER WAREHOUSE[]	EACH	\$17.740	1.00	\$17.74
6128	NAPA FILTER AIR COND	LUMBER WAREHOUSE[]	EACH	\$3.205	2.00	\$6.41
3640	NAPA FUEL FILTER 1R-0762	LUMBER WAREHOUSE[]	EACH	\$17.860	1.00	\$17.86
7896	NAPA HYDRAULIC FILTER	LUMBER WAREHOUSE[]	EACH	\$63.060	1.00	\$63.06
5I-8670	HYDRAULIC FILTER	LUMBER WAREHOUSE[]	EACH	\$41.490	1.00	\$41.49
15W40BULK	RUBIA OPTIMA 1100 CK4 15W40	LUMBER WAREHOUSE[]	QUARTS	\$1.963	28.00	\$54.95

0:				
•	an	211	ıres	
-OI	ч	all	11 C 3	

Status	Note	Recorded By	Date	
NEEDS REVIEW		David Henderson		4/20/2019

Rainey, Troy: 6/9/2021 6:56:49 AM



Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order #	3534 [Broken bolt]			Status COMPLETED
Entity Name	Battle Lumber Co.	Budget 1	1400 WOOD YARD	Created 5/10/2019
Priority	Normal	Assigned A	Albert Lyn Barton	Due
Work Type	CORRECTIVE	Customer		Completed 5/10/2019
			Asset	
Asset ID	91425 [325D CAT KNUCKLE	BOOM]		Schedule
Group Tree	\3200 BATTLE TIMBER CREV	V3 Manufacturer (CATERPILLAR	
Category	HEAVY EQUIPMENT	Model 3	325D	
Туре	KNUCKLE BOOM LOADER	Serial # 0	C8L01680	
			Logs	
Down Hou	rs: 0.500000	Hours : 5811		
		Se	ervices	
	Service Code	Service Description		Estimated Hours
MAINTENANCE				
[√]	REPAIR GRAPPLE	REPAIR GRAPPLE		1.00

[√]	REPAIR GRAPPLE	REPAIR GRAPPLE

Signatures

Status	Note	Recorded By Date	
NEEDS REVIEW		Albert Lyn Barton	5/10/2019

Parts

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



					81 81 1 81 81 81 81 81
Work Order #	3850 [AC not cooling]			Sta	tus COMPLETED
Entity Name	Battle Lumber Co.	Budget	1400 WOOD YARD	Crea	ted 5/22/2019
Priority	Normal	Assigned	Roger Mckenzie		Due
Work Type	CORRECTIVE	Customer		Comple	ted 5/22/2019
			Asset		
Asset ID	91425 [325D CAT KNUCKLE B	оом]		Sched	ule
Group Tree	\3200 BATTLE TIMBER CREW3	Manufacturer	CATERPILLAR		
Category	HEAVY EQUIPMENT	Model	325D		
Туре	KNUCKLE BOOM LOADER	Serial #	C8L01680		
			Logs		
Down Hour	rs: 0.500000	Hours: 5887	,		
		S	Services		
	Service Code	Service Description			Estimated Hours
STANDARD					
[√]	AIR CONDITION SERVICE	AIR CONDITION SERV	/ICE		1.00
			Parts		
		e:	gnatures		
Ctatura	Nete	JI,	gnatures	Decembed Dv	Data
Status	Note			Recorded By	Date
NEEDS REV	IEW			Roger Mckenzie	5/22/2019
R	yye				

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order # 4804 [Busted hose] Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 7/2/2019

Priority Normal Assigned James Rogers Due

Work Type CORRECTIVE Customer Completed 7/3/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours:** 6168

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[√] HYDRAULIC LEAK HYDRAULIC LEAK 1.00

Parts Part # Description Location Unit of **Unit Cost** Quantity Total Measure LUMBER T28D EXCEEDS SAE 1/2' 100R2AT FEET \$2.110 2.00 \$4.22 WAREHOUSE [] DIEHARD COVER \$8.48 T2800-0813 0813 ORFS FEMALE LUMBER 2.00 **EACH** \$4.240 WAREHOUSE []

Signatures

StatusNoteRecorded ByDateNEEDS REVIEWJames Rogers7/2/2019

1 2000

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order #	4843 [Hydraulic leak]	Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 7/8/2019

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 7/8/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours**: 6185

Services

Service Code Service Description Estimated Hours

MAINTENANCE

 $[\sqrt{}]$ HYDRAULIC LEAK HYDRAULIC LEAK 1.00

Parts

Signatures

Status Note Recorded By Date

NEEDS REVIEW Roger Mckenzie 7/8/2019

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order #	5219 [Hydraulic leak]	Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 7/23/2019

Priority Normal Assigned James Rogers Due

Work Type CORRECTIVE Customer Completed 7/23/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours**: 6266

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[√] HYDRAULIC LEAK HYDRAULIC LEAK 1.00

Parts

Signatures

Status Note Recorded By Date

NEEDS REVIEW James Rogers 7/23/2019

Jimmy

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 5417 [Busted hose] Status COMPLETED

Budget 1400 WOOD YARD Created 7/30/2019 Entity Name Battle Lumber Co.

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 7/30/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] **Schedule**

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 Hours: 6294

Note

Services

Service Code Service Description Estimated Hours

MAINTENANCE

Status

[] HYDRAULIC LEAK HYDRAULIC LEAK 1.00

		Parts				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
T2800-0813	0813 ORFS FEMALE	LUMBER WAREHOUSE []	EACH	\$4.240	2.00	\$8.48
T28D	EXCEEDS SAE 1/2' 100R2AT DIEHARD COVER	LUMBER WAREHOUSE[]	FEET	\$2.110	22.00	\$46.42

Recorded By

Date

Signatures

NEEDS REVIEW Roger Mckenzie 7/30/2019

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 5566 [Fan belt] Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 8/5/2019

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 8/5/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 1 Hours: 6329

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[\forall REPLACE BELT REPLACE BELT 1.00

Parts

Part # Description Location Unit of **Unit Cost** Quantity Total Measure LUMBER **RIB BELT** EACH \$52.980 \$52.98 F3289886 1.00 WAREHOUSE []

Signatures

Status Note Recorded By Date

NEEDS REVIEW Roger Mckenzie 8/5/2019

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order #	5588 [Grapple]	Status COMPLETED
WOIR CIUCI #	JJ00 Grappie	Status COMI ELILD

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 8/6/2019

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 8/6/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours:** 6338

Services

Service Code Service Description Estimated Hours

MAINTENANCE

 $[\sqrt{}]$ REPAIR GRAPPLE REPAIR GRAPPLE 1.00

Parts

Signatures

Status Note Recorded By Date

NEEDS REVIEW Roger Mckenzie 8/6/2019

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order #	5605 [Grease fittings]	Status COMPLETED
WOLK OLUCI #	JUUJ IGIEASE IILIIIUS I	Status CONFLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 8/7/2019

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 8/12/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 1 Hours: 6356

Services

Service Code Service Description Estimated Hours

MAINTENANCE

 $[\sqrt{}]$ REPAIR GRAPPLE REPAIR GRAPPLE 1.00

Parts

Signatures

Status Note Recorded By Date

NEEDS REVIEW Roger Mckenzie 8/12/2019

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 5647 [STANDARD] Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 8/8/2019

Priority Normal Assigned James Rogers Due

Work Type 500 HR SERVICE Customer Completed 8/10/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule 500 HOUR SERVICE

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 1 Hours: 6356

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[] 500 HR SERVICE 500 HR SERVICE 1.00

		Parts				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
7791	NAPA OIL FILTER	LUMBER WAREHOUSE[]	EACH	\$9.710	1.00	\$9.71
6607	NAPA AIR FILTER 6I- 2503	LUMBER WAREHOUSE[]	EACH	\$40.260	1.00	\$40.26
6595	NAPA AIR FILTER 6I-250	4 LUMBER WAREHOUSE[]	EACH	\$31.590	1.00	\$31.59
326-1644	CAT FUEL/WATER SEPERATOR FILTER (33606)	LUMBER WAREHOUSE[]	EACH	\$33.340	1.00	\$33.34
1621	NAPA HYD FILTER	LUMBER WAREHOUSE[]	EACH	\$17.170	1.00	\$17.17
6128	NAPA FILTER AIR COND	LUMBER WAREHOUSE[]	EACH	\$7.450	2.00	\$14.90
3640	NAPA FUEL FILTER 1R-0762	LUMBER WAREHOUSE[]	EACH	\$18.400	1.00	\$18.40
7896	NAPA HYDRAULIC FILTER	LUMBER WAREHOUSE[]	EACH	\$66.390	1.00	\$66.39
5I-8670	HYDRAULIC FILTER	LUMBER WAREHOUSE[]	EACH	\$41.490	1.00	\$41.49
15W40BULK	RUBIA OPTIMA 1100 CK4 15W40	LUMBER WAREHOUSE[]	QUARTS	\$1.963	28.00	\$54.95

0:		-		
•	an	atı	Iro	•
-OI	u	all	иιс	-

Status	Note	Recorded By	Date
NEEDS REVIEW		James Rogers	8/10/2019

Rainey, Troy: 6/9/2021 6:56:49 AM

Simmy

6/9/2021

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order #	6415 [Hydraulic leak]		Statu	IS COMPLETED
Entity Name	Battle Lumber Co.	Budget 1400 WOOD Y	'ARD Create	ed 9/11/2019
Priority	rity Normal Assigned Roger Mckenzie Due			ie
Work Type	CORRECTIVE	Customer	Complete	ed 9/12/2019
		Asset		
Asset ID	91425 [325D CAT KNUCKLE I	BOOM]	Schedu	le
Group Tree	\3200 BATTLE TIMBER CREW	3 Manufacturer CATERPILLAR	र	
Category	HEAVY EQUIPMENT	Model 325D		
Туре	KNUCKLE BOOM LOADER	Serial # C8L01680		
		Logs		
Down Hou	rs: 0.500000	Hours: 6488		
		Services		
	Service Code	Service Description		Estimated Hours
MAINTENANCE				
[√]	HYDRAULIC LEAK	HYDRAULIC LEAK		1.00
		Parts		
		Signatures		
Status	Note	Olginata 00	Recorded By	Date
NEEDS REV	'IEVV		Roger Mckenzie	9/11/2019

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order # 6869 [Air filter] Status COMPLETED

Budget 1400 WOOD YARD Created 10/1/2019 Entity Name Battle Lumber Co.

Priority Normal **Assigned** James Rogers Due

Work Type CORRECTIVE Completed 10/1/2019 Customer

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] **Schedule**

Manufacturer CATERPILLAR Group Tree \3200 BATTLE TIMBER CREW3

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 Hours: 6586

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[√] BLOW OUT AIR FILTERS BLOW OUT AIR FILTERS

Note

0.50

Date

Parts

Signatures

Status Recorded By NEEDS REVIEW

10/1/2019 James Rogers

NEEDS REVIEW James Rogers 10/1/2019

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Page 24

Work Order #	6965 [Check tracks]	Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 10/4/2019

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 10/4/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours**: 6615

Services

Service Code Service Description Estimated Hours

MAINTENANCE

6/9/2021

[] REPAIR TRACKS REPAIR TRACKS 1.00

Parts

Signatures

Status Note Recorded By Date

NEEDS REVIEW Roger Mckenzie 10/4/2019

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Schedule

Work Order # 7331 [Swivel motor, rebuild Status COMPLETED

boom cylinder,]

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 10/21/2019

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 10/31/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM]

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 9 Hours: 6729

Services			
	Service Code	Service Description	Estimated Hours
MAINTENANCE			
[]	BOOM CYLINDER	REPACK BOOM CYLINDER	3.00
[]	GREASE FITTINGS	GREASE FITTINGS	1.00
[]	HYDRAULIC LEAK	HYDRAULIC LEAK	1.00
[]	REPLACE SWIVEL MOTOR	REPLACE SWIVEL MOTOR	2.00

STANDARD

[] CYLINDER REPAIR CYLINDER REPAIR 1.00

		Parts				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
228-5617	BEARING	LUMBER WAREHOUSE[]	EACH	\$204.040	2.00	\$408.08
166-1496	SEAL-LIP TYPE	LUMBER WAREHOUSE[]	EACH	\$39.410	4.00	\$157.64
462-2006	BEARING SLEEVE	LUMBER WAREHOUSE[]	EACH	\$197.810	1.00	\$197.81
526-6321	CYLINDER SEAL KIT	LUMBER WAREHOUSE[]	EACH	\$308.680	2.00	\$617.36
4003	BRAKE CLEANER	LUMBER WAREHOUSE[]	EACH	\$3.000	4.00	\$12.00
7170	FAMILY, MEGAPLEX XD3 10 PK	LUMBER WAREHOUSE[]	EACH	\$2.759	4.00	\$11.04

Rainey, Troy: 6/9/2021 6:56:49 AM

2M-9780	ORING SEAL	LUMBER WAREHOUSE[]	EACH	\$1.270	2.00	\$2.54
390-9147	MANIFOLD ASSY	LUMBER WAREHOUSE[]	EACH	\$2640.550	1.00	\$2640.55
130-8818	PIN	LUMBER WAREHOUSE[]	EACH	\$1484.710	1.00	\$1484.71

-	natures	

Recorded By

Date

NEEDS REVIEW	Roger Mckenzie	10/31/2019

Roya

Note

Status

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 755	59 [Hydraulic leak] Status	COMPLETED
------------------	-----------------------------	-----------

Budget 1400 WOOD YARD Entity Name Battle Lumber Co. Created 11/1/2019

Priority Normal **Assigned** James Rogers Due

Work Type CORRECTIVE Completed 11/1/2019 Customer

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] **Schedule**

Manufacturer CATERPILLAR Group Tree \3200 BATTLE TIMBER CREW3

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 2 Hours: 6732

Services

	Service Code	Service Description	Estimated Hours
MAINTENANCE			

[√] DIAGNOSTIC DIAGNOSTIC ELECTRICAL 1.00 **ELECTRICAL**

[√] HYDRAULIC LEAK HYDRAULIC LEAK 1.00

Parts Location Part # Description Unit of **Unit Cost** Quantity Total Measure FS6801-10-10-NWO-FG FS6801-10-10-NWO-FG_MFS-MAORB LUMBER EACH \$4.460 1.00 \$4.46 90D FORGED WAREHOUSE []

Signatures

Status Note **Recorded By Date** NEEDS REVIEW James Rogers 11/1/2019

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 7616 [Hydraulic leak] Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 11/4/2019

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 11/4/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 **Manufacturer** CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours**: 6749

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[] HYDRAULIC LEAK HYDRAULIC LEAK

1.00

Date

Recorded By

		Parts				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
T28D	EXCEEDS SAE 1/2' 100R2AT DIEHARD COVER	LUMBER WAREHOUSE []	FEET	\$2.020	2.00	\$4.04
T28D	EXCEEDS SAE 1/2' 100R2AT DIEHARD COVER	LUMBER WAREHOUSE []	FEET	\$2.020	2.00	\$4.04

Sin	natures	
Siq	liatui c s	

NEEDS REVIEW Roger Mckenzie 11/4/2019

Poger

Note

Status

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 7869 [Want start] Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 11/14/2019

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 11/14/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 **Manufacturer** CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours:** 6806

Services

Service Code Service Description Estimated Hours

STANDARD

[] JUMP OFF JUMP OFF 0.25

		Parts				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
DELO 15W40 GAL.	DELO 15W40 GALLONS	LUMBER WAREHOUSE []	GALLONS	\$12.333	1.00	\$12.33

Signatures

Status Note Recorded By Date

NEEDS REVIEW Roger Mckenzie 11/14/2019

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 8340 [Busted hose] Status COMPLETED

Budget 1400 WOOD YARD Created 12/5/2019 Entity Name Battle Lumber Co.

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 12/5/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] **Schedule**

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.750000 Hours: 6933

Note

Services

Service Code Service Description Estimated Hours

MAINTENANCE

Status

[] HYDRAULIC LEAK HYDRAULIC LEAK

1.00

Date

Recorded By

Parts						
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
T28D	EXCEEDS SAE 1/2' 100R2AT DIEHARD COVER	LUMBER WAREHOUSE []	FEET	\$2.020	14.00	\$28.28
T2800-0813	0813 ORFS FEMALE	LUMBER WAREHOUSE []	EACH	\$5.090	2.00	\$10.18

C:		
210	natures	

NEEDS REVIEW 12/5/2019

Roger Mckenzie

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

1.00

Work Order # 8369 [Busted hose] Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 12/6/2019

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 12/7/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 1 Hours: 6942

Services

Service Code Service Description Estimated Hours

MAINTENANCE

Roger

[√] HYDRAULIC LEAK HYDRAULIC LEAK

Parts Part # Description Location Unit of **Unit Cost** Quantity Total Measure LUMBER T7800-1219 1219 ORFS FEMALE FITTING EACH \$10.310 2.00 \$20.62 WAREHOUSE [] H6012D 3/4' DIEHARD ISOBARIC SPIRAL LUMBER **FEET** \$9.740 28.00 \$272.72 6000 PSI MSHA FRAS AR WAREHOUSE []

Signatures

Status Note Recorded By Date

NEEDS REVIEW Roger Mckenzie 12/6/2019

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



1.00

	0FF0 PM 14 4 43	O OOMBLETE	
Work Order#	8559 [Won't start]	Status COMPLETEI	

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 12/16/2019

Priority Normal Assigned James Rogers Due

Work Type CORRECTIVE Customer Completed 12/16/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours**: 6978

Services

Service Code Service Description Estimated Hours

STANDARD

[√]

CHECK START AND CHARGING SYSTEM

START AND CHARGING SYST.

Parts

Signatures

StatusNoteRecorded ByDateNEEDS REVIEWJames Rogers12/16/2019

Jung

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order #	8562 [Hydraulic leak]	Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 12/16/2019

Priority Normal Assigned James Rogers Due

Work Type CORRECTIVE Customer Completed 12/16/2019

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.750000 **Hours:** 6978

Service Service Code Service Description Estimated Hours

MAINTENANCE

[√] REPLACE HOSE REPLACE HOSE 1.00

[√] HYDRAULIC LEAK HYDRAULIC LEAK 1.00

		Parts				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
H6012D	3/4' DIEHARD ISOBARIC SPIRAL 6000 PSI MSHA FRAS AR	LUMBER WAREHOUSE[]	FEET	\$9.740	13.00	\$126.62
T7800-1219	1219 ORFS FEMALE FITTING	LUMBER WAREHOUSE[]	EACH	\$10.310	2.00	\$20.62

StatusNoteRecorded ByDateNEEDS REVIEWJames Rogers12/16/2019

JIMMY

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order #	8694 [Jump start]	Status COMPLETED	

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 12/20/2019

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 12/20/2019

Model 325D

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours**: 6995

Category HEAVY EQUIPMENT

Services

Service Code Service Description Estimated Hours

STANDARD

 $[\sqrt{\ }]$ JUMP OFF JUMP OFF 0.25

Parts

Signatures

Status Note Recorded By Date

NEEDS REVIEW Roger Mckenzie 12/20/2019

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



1.00

Date

Work Order # 8777 [Needs oil] Status COMPLETED

Budget 1400 WOOD YARD Created 12/26/2019 Entity Name Battle Lumber Co.

Priority Normal **Assigned** James Rogers Due

Work Type CORRECTIVE Completed 12/26/2019 Customer

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] **Schedule**

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.750000 Hours: 7015

Services

Service Code Service Description Estimated Hours MAINTENANCE

[√] CHECK OIL LEVELS CHECK OIL LEVELS 0.25

STANDARD

Status

[√] START AND CHARGING CHECK START AND CHARGING SYSTEM

SYST.

Note

		Parts				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
DELO 15W40 GAL.	DELO 15W40 GALLONS	LUMBER WAREHOUSE[]	GALLONS	\$12.330	1.00	\$12.33

Sig	natu	ires
-----	------	------

Recorded By NEEDS REVIEW James Rogers 12/26/2019

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order #	8980 [REPAIR GRAPPLE]	Status COMPLETED
WOIR CIUCI #	0300 INELAIN GIVALLEL	Status COMI ELTED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 1/3/2020

Priority Normal Assigned James Rogers Due

Work Type CORRECTIVE Customer Completed 1/4/2020

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours**: 7046

Services

Service Code Service Description Estimated Hours

MAINTENANCE

 $[\sqrt{}]$ REPAIR GRAPPLE REPAIR GRAPPLE 1.00

Parts

Signatures

Status Note Recorded By Date

NEEDS REVIEW James Rogers 1/4/2020

Jimmy

NEEDS REVIEW James Rogers 1/4/2020

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order #	9045 [Batteries & hydraulic	leak]			Stat	us COMPLE	TED
Entity Name	Battle Lumber Co.	Budget	: 1400 WOOD YARD		Create	ed 1/7/2020	
Priority	Normal	Assigned	Jeff Sherrod		D	ue	
Work Type	CORRECTIVE	Customer			Complete	ed 1/7/2020	
			Asset				
Asset ID	91425 [325D CAT KNUCKL	E BOOM]			Schedu	ile	
Group Tree	\3200 BATTLE TIMBER CRE	W3 Manufacturer	CATERPILLAR				
Category	HEAVY EQUIPMENT	Model	325D				
Туре	KNUCKLE BOOM LOADER	Serial #	C8L01680				
			Logs				
Down Hou	rs: 1.250000	Hours : 705	3				
			Services				
	Service Code	Service Description				Es	timated Hours
MAINTENANCE							
[]	HYDRAULIC LEAK	HYDRAULIC LEAK					1.00
[]	INSTALL/ REPLACE BATTERY	INSTALL/ REPLACE E	BATTERY			'	1.00
			Parts				
Part #	Description	1	Location	Unit of Measure	Unit Cost	Quantity	Total
31P-MHD	INTERSTAT	TE BATTERY 31P-MHD	LUMBER WAREHOUSE[]	EACH	\$115.950	2.00	\$231.90
		S	ignatures				
Status	Note			Record	led By	Date	
NEEDS REV	TEW			Jeff Sho	errod		1/7/2020
	1						

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 9155 [Busted hose] Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 1/9/2020

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 1/9/2020

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 **Manufacturer** CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.750000 **Hours**: 7061

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[√] REPLACE HOSE REPLACE HOSE 1.00

		Parts				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
T7800-1219	1219 ORFS FEMALE FITTING	LUMBER WAREHOUSE[]	EACH	\$12.890	2.00	\$25.78
H6012D	3/4' DIEHARD ISOBARIC SPIRAL 6000 PSI MSHA FRAS AR	LUMBER WAREHOUSE []	FEET	\$9.740	15.00	\$146.10

ο.		
~ in	natures	
JIU	matures	

StatusNoteRecorded ByDateNEEDS REVIEWRoger Mckenzie1/9/2020

Roger

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 9257 [HYDRAULIC LEAK] Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 1/13/2020

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 1/14/2020

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours**: 7069

Services

Service Code Service Description Estimated Hours

MAINTENANCE

Roger

 $\left[\sqrt{}\right]$ HYDRAULIC LEAK HYDRAULIC LEAK 1.00

Parts

Signatures

Status Note Recorded By Date

NEEDS REVIEW Roger Mckenzie 1/13/2020

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 9867 [Hydraulic leak] Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 2/3/2020

Priority Normal Assigned Jeff Sherrod Due

Work Type CORRECTIVE Customer Completed 2/3/2020

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.750000 **Hours**: 7166

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[] REPLACE HOSE REPLACE HOSE 1.00

		Parts				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
T2840-0813	0813 ORFS MALE	LUMBER WAREHOUSE []	EACH	\$5.650	2.00	\$11.30
T28D	EXCEEDS SAE 1/2' 100R2AT DIEHARD COVER	LUMBER WAREHOUSE[]	FEET	\$2.450	2.00	\$4.90

C	П	~	n	_	4.		r	es	
•	ш	ч	ш	а	u	u	ш	cэ	

StatusNoteRecorded ByDateNEEDS REVIEWJeff Sherrod2/3/2020

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 10475 [Hydraulic leak] Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 2/20/2020

Priority Normal Assigned Jeff Sherrod Due

Work Type CORRECTIVE Customer Completed 2/24/2020

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours**: 7272

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[] REPLACE HOSE REPLACE HOSE 1.00

		Parts				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
T2800-0813	0813 ORFS FEMALE	LUMBER WAREHOUSE []	EACH	\$5.090	2.00	\$10.18
T28D	EXCEEDS SAE 1/2' 100R2AT DIEHARD COVER	LUMBER WAREHOUSE []	FEET	\$2.450	2.00	\$4.90

Ο		
SIN	natures	
OIG	Hatul C3	

StatusNoteRecorded ByDateNEEDS REVIEWJeff Sherrod2/20/2020

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 11709 [Check over loader.] Status COMPLETED

Budget 1400 WOOD YARD Entity Name Battle Lumber Co. Created 3/27/2020

Priority Normal **Assigned** James Rogers Due

Work Type CORRECTIVE Completed 3/31/2020 Customer

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] **Schedule**

Manufacturer CATERPILLAR Group Tree \3200 BATTLE TIMBER CREW3

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

GREASE

Logs

Down Hours: 1 Hours: 7401

GREASE

Services

Service Code Service Description Estimated Hours MAINTENANCE CHECK ALL FLUID CHECK ALL FLUID LEVELS 0.25 [] **LEVELS**

[] 0.50 **Parts** Part # Description Location Unit of **Unit Cost** Quantity Total Measure MULTIS COMPLEX HV2 MOLLY MULTIS COMPLEX HV2 MOLLY EACH LUMBER \$3.125 1.00 \$3.13 WAREHOUSE []

SUPER S 50/50 ANTIFREEZE SUPER S 50/50 ANTIFREEZE LUMBER **EACH** \$8.163 1.00 \$8.16 WAREHOUSE [] AW68 AZOLLA HYD OIL **LUMBER GALLONS** \$6.936 1.50 \$10.40 WAREHOUSE []

15W40BULK RUBIA OPTIMA 1100 CK4 15W40 LUMBER **QUARTS** \$2.013 1.00 \$2.01

WAREHOUSE []

Signatures

Status Note **Recorded By Date** NEEDS REVIEW James Rogers 3/31/2020

Rainey, Troy: 6/9/2021 6:56:49 AM



6/9/2021

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

\$233.76

Work Order # 13770 [Grapple repair] Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 5/26/2020

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 6/1/2020

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 **Manufacturer** CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

3/4' DIEHARD ISOBARIC SPIRAL

Logs

Down Hours: 4 Hours: 7727

Services

Service Code Service Description Estimated Hours

MAINTENANCE

H6012D

[√] REPAIR GRAPPLE REPAIR GRAPPLE 1.00

		Parts				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
T7040-1221	1221 JIC FEMALE FITTING	LUMBER WAREHOUSE []	EACH	\$18.600	2.00	\$37.20
T7800-1219	1219 ORFS FEMALE FITTING	LUMBER WAREHOUSE[]	EACH	\$12.370	2.00	\$24.74

6000 PSI MSHA FRAS AR	WAREHOUSE[]	

Signatures

LUMBER

FEET

\$9.740

24.00

Status	Note	Recorded By	Date
NEEDS REVIEW		Roger Mckenzie	6/1/2020

Rich

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

WELD REPAIR

[√]



1.00

13781 [WELD CRACKS ON GRAPPLE] Work Order # Status COMPLETED Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 5/26/2020 **Priority** Normal Assigned BRYANT PARTRIDGE Due Work Type CORRECTIVE Completed 5/26/2020 Customer **Asset** Asset ID 91425 [325D CAT KNUCKLE BOOM] **Schedule** Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR Category HEAVY EQUIPMENT Model 325D Type KNUCKLE BOOM LOADER Serial # C8L01680 Logs Hours: 7699 Down Hours: 4 **Services Service Description** Service Code **Estimated Hours** MAINTENANCE

Parts

WELD REPAIR

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order #	14438 [AC]	Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 6/12/2020

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 6/12/2020

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours**: 7764

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[√] CHECK HEAT AND AIR CHECK HEAT AND AIR 0.00

Parts

Signatures

Status Note Recorded By Date

NEEDS REVIEW Roger Mckenzie 6/12/2020

Royer

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order # 15089 [Fuel] Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 6/30/2020

Priority Normal Assigned Floyd, Gary Due

Work Type PREVENTIVE Customer Completed 6/30/2020

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours**: 7786

my Tosel

Services

Service Code Service Description Estimated Hours

MAINTENANCE

 $\left[\sqrt{}\right]$ FUEL FUEL 0.50

Parts Part # Description Location Unit of **Unit Cost** Quantity Total Measure #25 OFF ROAD DIESEL OFF ROAD DIESEL LUMBER **GALLONS** \$134.88 \$1.215 111.00 WAREHOUSE []

Signatures

Status Note Recorded By Date

NEEDS REVIEW Floyd, Gary 6/30/2020

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 15296 [Greased] Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 7/8/2020

Priority Normal Assigned Floyd, Gary Due

Work Type PREVENTIVE Customer Completed 7/8/2020

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours**: 7812

Dam Hust

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[√] GREASE GREASE 0.50

Parts

Signatures

Status Note Recorded By Date

NEEDS REVIEW Floyd, Gary 7/8/2020

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order # 16039 [Fuel And grease] Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 7/30/2020

Priority Normal Assigned Floyd, Gary Due

Work Type PREVENTIVE Customer Completed 7/30/2020

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours**: 7871

Services

Service Code Service Description Estimated Hours

MAINTENANCE

 $\left[\sqrt{}\right]$ FUEL FUEL 0.50

WAREHOUSE []

Parts Part # Description Location Unit of **Unit Cost** Quantity Total Measure #25 OFF ROAD DIESEL OFF ROAD DIESEL LUMBER **GALLONS** \$111.60 \$1,240 90.00

Signatures

StatusNoteRecorded ByDateNEEDS REVIEWFloyd, Gary7/30/2020

27

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order # 16204 [FUEL AND OIL] Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 8/3/2020

Priority Normal Assigned Floyd, Gary Due

Work Type PREVENTIVE Customer Completed 8/3/2020

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 **Manufacturer** CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours**: 7888

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[] FUEL FUEL 0.50

STANDARD

[] DAILY OIL DISTRIBUTION DAILY OIL DISTRIBUTION

0.00

		Parts				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
#25 OFF ROAD DIESEL	OFF ROAD DIESEL	LUMBER WAREHOUSE[]	GALLONS	\$1.240	69.00	\$85.56
SUPER S CHAIN LUBE	SUPER S CHAIN LUBE	LUMBER WAREHOUSE[]	EACH	\$7.000	3.00	\$21.00

Signatures

StatusNoteRecorded ByDateNEEDS REVIEWFloyd, Gary8/3/2020

6/9/2021

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

1.00

Work Order #	16251 [Joy stick]	Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 8/4/2020

Priority Normal Assigned Roger Mckenzie Due

Work Type CORRECTIVE Customer Completed 8/4/2020

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours**: 7904

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[√] EQUIPMENT FUNCTIONS EQUIPMENT FUNCTIONS

Parts

Signatures

Status Note Recorded By Date

NEEDS REVIEW Roger Mckenzie 8/4/2020

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order # 16252 [Fuel] Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 8/4/2020

Priority Normal Assigned Floyd, Gary Due

Work Type PREVENTIVE Customer Completed 8/4/2020

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours**: 7904

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[/] FUEL FUEL 0.50

STANDARD

[\forall] DAILY OIL DISTRIBUTION DAILY OIL DISTRIBUTION

0.00

		Parts				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
#25 OFF ROAD DIESEL	OFF ROAD DIESEL	LUMBER WAREHOUSE[]	GALLONS	\$1.240	70.00	\$86.80
SUPER S CHAIN LUBE	SUPER S CHAIN LUBE	LUMBER WAREHOUSE[]	EACH	\$7.000	3.00	\$21.00

Signatures

StatusNoteRecorded ByDateNEEDS REVIEWFloyd, Gary8/4/2020

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order # 17814 [REPLACE ONE BLOW

GRAPPLE CYLINDER LINE AND

BUILT A SPARE]

Budget 1400 WOOD YARD

Created 9/22/2020

Entity Name Battle Lumber Co. **Priority** Normal

Assigned Harvey, Michael

Due

Status ISSUE COMPLETED

Work Type CORRECTIVE

Customer

Completed 9/22/2020

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM]

Schedule

Group Tree \3200 BATTLE TIMBER CREW3

Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT

Model 325D

Type KNUCKLE BOOM LOADER

Serial # C8L01680

Logs

Down Hours: 1

Hours: 8067

Services

Service Code

HYDRAULIC LEAK

Service Description

Estimated Hours

MAINTENANCE

[]

HYDRAULIC LEAK

2.00

Parts

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 19058 [REPLACE AIR FILTERS] Status ISSUE COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 10/24/2020

Priority Normal Assigned Harvey, Michael Due

Work Type CORRECTIVE Customer Completed 10/27/2020

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.250000 **Hours**: 8263

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[] AIR FILTER AIR FILTER 0.25

		Parts				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
46607	AIR FILTER	LUMBER WAREHOUSE []	EACH	\$46.020	1.00	\$46.02
46595	AIR FILTER	LUMBER WAREHOUSE []	EACH	\$36.620	1.00	\$36.62

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 20852 [STANDARD] Status COMPLETED

Entity Name Battle Lumber Co. Budget 1400 WOOD YARD Created 12/15/2020

Priority Normal Assigned Cody Marsh Due

Work Type 500 HR SERVICE Customer Completed 12/22/2020

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule 500 HOUR SERVICE

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 1.750000 **Hours:** 8359

Services

Service Code Service Description Estimated Hours

MAINTENANCE

 $\left[\sqrt{}\right]$ 500 HR SERVICE 500 HR SERVICE 1.00

		Parts				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
7791	NAPA OIL FILTER	LUMBER WAREHOUSE[]	EACH	\$9.710	1.00	\$9.71
326-1644	CAT FUEL/WATER SEPERATOR FILTER (33606)	LUMBER WAREHOUSE[]	EACH	\$34.510	1.00	\$34.51
400243	HYDRAULIC FILTER	LUMBER WAREHOUSE[]	EACH	\$34.240	1.00	\$34.24
15W40BULK	RUBIA OPTIMA 1100 CK4 15W40	LUMBER WAREHOUSE[]	QUARTS	\$0.000	28.00	\$0.00
P532503	AIR FILTER	LUMBER WAREHOUSE[]	EACH	\$0.000	1.00	\$0.00
46595	AIR FILTER	LUMBER WAREHOUSE[]	EACH	\$0.000	1.00	\$0.00
51621	HYDRAULIC FILTER	LUMBER WAREHOUSE[]	EACH	\$21.840	1.00	\$21.84
6128	NAPA FILTER AIR COND	LUMBER WAREHOUSE[]	EACH	\$0.000	2.00	\$0.00
33640	FUEL FILTER	LUMBER WAREHOUSE[]	EACH	\$21.660	1.00	\$21.66
57896	HYDRAULIC FILTER	LUMBER WAREHOUSE[]	EACH	\$82.710	1.00	\$82.71

_					
•	101	าวเ	ш	res	
•	ıuı	ıaı	u	C 3	

Status	Note	Recorded By	Date
NEEDS REVIEW		Cody Marsh	12/22/2020

Rainey, Troy: 6/9/2021 6:56:49 AM

Con

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 21860 [REPLACE GRAPPLE Status ISSUE COMPLETED ROTATE LINE]

Entity Name Battle Lumber Co. Budget 3200 BATTLE TIMBER Created 1/18/2021

CREW3

Priority Normal Assigned Harvey, Michael Due

Work Type CORRECTIVE Customer Completed 1/18/2021

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 2 Hours: 8466

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[] HYDRAULIC LEAK HYDRAULIC LEAK 2.00

Parts

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order #	22450 [REPLACE AIR FILTERS	5]			Statu	s NEW	
Entity Name	Battle Lumber Co.	Budget	3200 BATTLE TIMBE CREW3	R	Create	d 2/1/2021	
Priority	Normal	Assigned	Harvey, Michael		Du	е	
Work Type	CORRECTIVE	Customer			Complete	d	
			Asset				
Asset ID	91425 [325D CAT KNUCKLE B	OOM]			Schedul	е	
Group Tree	\3200 BATTLE TIMBER CREW3	Manufacturer	CATERPILLAR				
Category	HEAVY EQUIPMENT	Model	325D				
Туре	KNUCKLE BOOM LOADER	Serial #	C8L01680				
			Logs				
Down Hou	rs:	Hours:					
		•	Services				
	Service Code	Service Description				Esti	mated Hours
MAINTENANCE							
[]	AIR FILTER	AIR FILTER					0.25
			Parts				
Part #	Description		Location	Unit of Measure	Unit Cost	Quantity	Total
46595	AIR FILTER		LUMBER WAREHOUSE[]	EACH	\$36.920	1.00	\$36.92
46607	AIR FILTER		LUMBER	EACH	\$46.020	1.00	\$46.02

WAREHOUSE []

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order # 23517 [Grapple cylinder pin

missing]

Work Type CORRECTIVE

Entity Name Battle Lumber Co. Budget 3200 BATTLE TIMBER

CREW3

Priority Normal Assigned Cody Marsh

Created 2/24/2021

Status COMPLETED

Completed 2/24/2021

Schedule

Assigned Cody Marsh Due

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM]

Manufacturer CATERPILLAR

Group Tree \3200 BATTLE TIMBER CREW3

Category HEAVY EQUIPMENT

Model 325D

Customer

Type KNUCKLE BOOM LOADER

Serial # C8L01680

Logs

Down Hours: 2 Hours: 8707

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[√] SWAP OUT GRAPPLE SWAP OUT GRAPPLE 9.00

Parts

Signatures

Status Note Recorded By Date

NEEDS REVIEW James Rogers 2/24/2021

JIMAN

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 23540 [HYDRAULIC LEAK] Status COMPLETED

Entity Name Battle Lumber Co. Budget 3200 BATTLE TIMBER Created 2/24/2021

CREW3

Priority Normal Assigned Wayne Pullen Due

Work Type CORRECTIVE Customer Completed 2/24/2021

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours**: 8708

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[√] HYDRAULIC LEAK HYDRAULIC LEAK 2.00

Parts

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 23694 [Wind shield wiper] Status COMPLETED

Entity Name Battle Lumber Co. Budget 3200 BATTLE TIMBER Created 3/1/2021

CREW3

Priority Normal Assigned James Rogers Due

Work Type CORRECTIVE Customer Completed 3/2/2021

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours:** 8763

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[√] REPLACE WIPER BLADE REPLACE WIPER BLADES 0.25

		Parts				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
248-2620	WIPER ARM (CAT)	LUMBER WAREHOUSE[]	EACH	\$137.900	1.00	\$137.90
6V-7419	WIPER BLADE A (CAT)	LUMBER WAREHOUSE[]	EACH	\$41.360	1.00	\$41.36

Signatures

Status Note Recorded By Date

NEEDS REVIEW James Rogers 3/2/2021

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 23840 [Hydraulic leak] Status COMPLETED

Entity Name Battle Lumber Co. Budget 3200 BATTLE TIMBER Created 3/4/2021

CREW3

Priority Normal Assigned Jeff Sherrod Due

Work Type CORRECTIVE Customer Completed 4/6/2021

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 1 Hours: 8787

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[√] HOSE REPLACEMENT HOSE REPLACEMENT 1.00

		raits				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
T7800-1219	1219 ORFS FEMALE FITTING	LUMBER WAREHOUSE[]	EACH	\$16.210	1.00	\$16.21
T7040-1221	1221 JIC FEMALE FITTING	LUMBER WAREHOUSE []	EACH	\$0.000	1.00	\$0.00
AW46	AZOLLA ZS AW46	LUMBER WAREHOUSE[]	QUARTS	\$1.270	4.00	\$5.08
H5012D	3/4" DIEHARD ISOBARIC SPIRAL 5000 PSI MSHA FRAS AR	LUMBER WAREHOUSE[]	EACH	\$8.160	12.00	\$97.92

C:~		
-210	natı	ıres

 Status
 Note
 Recorded By
 Date

 NEEDS REVIEW
 Jeff Sherrod
 3/4/2021

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 24254 [STANDARD] Status COMPLETED

Entity Name Battle Lumber Co. Budget 3200 BATTLE TIMBER Created 3/12/2021

CREW3

Priority Normal Assigned James Rogers Due

Work Type 500 HR SERVICE Customer Completed 3/12/2021

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule 500 HOUR SERVICE

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 1.500000 **Hours:** 8859

Services

Service Code Service Description Estimated Hours

MAINTENANCE

 $\left[\sqrt{}\right]$ 500 HR SERVICE 500 HR SERVICE 1.00

Parts

Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
7791	NAPA OIL FILTER	LUMBER WAREHOUSE[]	EACH	\$0.000	1.00	\$0.00
326-1644	CAT FUEL/WATER SEPERATOR FILTER (33606)	LUMBER WAREHOUSE[]	EACH	\$34.510	1.00	\$34.51
7896	NAPA HYDRAULIC FILTER	LUMBER WAREHOUSE[]	EACH	\$68.930	1.00	\$68.93
400243	HYDRAULIC FILTER	LUMBER WAREHOUSE[]	EACH	\$34.240	1.00	\$34.24
15W40BULK	RUBIA OPTIMA 1100 CK4 15W40	LUMBER WAREHOUSE[]	QUARTS	\$2.013	28.00	\$56.35
46607	AIR FILTER	LUMBER WAREHOUSE[]	EACH	\$46.020	1.00	\$46.02
51621	HYDRAULIC FILTER	LUMBER WAREHOUSE[]	EACH	\$21.840	1.00	\$21.84
46128	AIR FILTER	LUMBER WAREHOUSE[]	EACH	\$8.750	2.00	\$17.50
46595	AIR FILTER	LUMBER WAREHOUSE[]	EACH	\$36.620	1.00	\$36.62
33640	FUEL FILTER	LUMBER WAREHOUSE[]	EACH	\$21.660	1.00	\$21.66
HDEXTENDED	HD EXTENDED 50/50 RED	LUMBER WAREHOUSE[]	EACH	\$10.000	2.00	\$20.00
		Signatures				

Rainey, Troy: 6/9/2021 6:56:49 AM

Status	Note	Recorded By	Date
NEEDS REVIEW		James Rogers	3/12/2021
Linne			

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 24709 [Fuel] Status COMPLETED

Entity Name Battle Lumber Co. Budget 3200 BATTLE TIMBER Created 3/23/2021

CREW3

Priority Normal Assigned Michael Wilson Due

Work Type PREVENTIVE Customer Completed 3/25/2021

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours:** 8949

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[√] FUEL FUEL 0.50

Parts Part # Description Location Unit of **Unit Cost** Quantity Total Measure #25 OFF ROAD DIESEL OFF ROAD DIESEL LUMBER **GALLONS** \$1.931 65.00 \$125.52

WAREHOUSE []

Signatures

Status Note Recorded By Date

NEEDS REVIEW Michael Wilson 3/23/2021

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 25302 [Grease] Status COMPLETED

Entity Name Battle Lumber Co. Budget 3200 BATTLE TIMBER Created 4/8/2021

CREW3

Priority Normal Assigned Michael Wilson Due

Work Type PREVENTIVE Customer Completed 4/28/2021

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours:** 9379

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[√] GREASE GREASE 0.50

Parts

Signatures

StatusNoteRecorded ByDateNEEDS REVIEWMichael Wilson4/28/2021

MW

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Date

Work Order # 25442 [Hydraulic leak] Status COMPLETED

Budget 3200 BATTLE TIMBER Created 4/12/2021 Entity Name Battle Lumber Co.

CREW3

Priority Normal **Assigned** James Rogers Due

Work Type CORRECTIVE Customer Completed 4/12/2021

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Serial # C8L01680 Type KNUCKLE BOOM LOADER

Logs

Down Hours: 1 Hours: 9204

Services

Service Code **Service Description Estimated Hours**

MAINTENANCE

Status

Note

[√] REPLACE HOSE REPLACE HOSE 1.00

[√] HYDRAULIC LEAK HYDRAULIC LEAK 2.00

Parts Unit Cost Part # Description Location Unit of Quantity **Total** Measure FS6801-08-10-NWO-FG FS6801-08-10-NWO-FG_MFS-MAORB LUMBER EACH \$4.590 \$4.59 1.00 90D FORGED WAREHOUSE [] T28D EXCEEDS SAE 1/2' 100R2AT **FEET** 14.00 \$34.30 LUMBER \$2.450 DIEHARD COVER WAREHOUSE [] T2800-0813 0813 ORFS FEMALE LUMBER **EACH** 2.00 \$13.46 \$6.730 WAREHOUSE []

Signatures

Recorded By

NEEDS REVIEW James Rogers 4/12/2021

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 25548 [Wiper motor] Status COMPLETED

Entity Name Battle Lumber Co. Budget 3200 BATTLE TIMBER Created 4/14/2021

CREW3

Priority Normal Assigned James Rogers Due

Work Type CORRECTIVE Customer Completed 4/17/2021

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 1 Hours: 9261

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[√] INSTALL WIPER BLADE INSTALL WIPER BLADE 0.50

REPAIR CODES

[/] WINDSHIELD WIPER REPLACE WINDSHIELD WIPER MOTOR 0.50

MOTOR

Parts Part # Location Unit of **Unit Cost** Description Quantity Total Measure WIPER MOTOR 248-2617 LUMBER EACH \$285.410 1.00 \$285.41 WAREHOUSE [] 6V-7419 WIPER BLADE A (CAT) LUMBER EACH \$41.360 1.00 \$41.36 WAREHOUSE []

Signatures

Status Note Recorded By Date

NEEDS REVIEW James Rogers 4/17/2021

JIMMZ

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

NEEDS REVIEW



James Rogers

4/21/2021

				I I =			
Work Order #	25805 [Grapple cylinder	broke]			Statu	s COMPLET	ED
Entity Name	Battle Lumber Co.	Budget	3200 BATTLE TIMBE CREW3	R	Create	d 4/21/2021	
Priority	Normal	Assigned	James Rogers		Du	е	
Work Type	CORRECTIVE	Customer			Complete	d 4/21/2021	
			Asset				
Asset ID	91425 [325D CAT KNUC	KLE BOOM]			Schedu	е	
Group Tree	\3200 BATTLE TIMBER C	REW3 Manufacturer	CATERPILLAR				
Category	HEAVY EQUIPMENT	Model	325D				
Туре	KNUCKLE BOOM LOADE	R Serial #	C8L01680				
			Logs				
Down Hour	rs: 1.500000	Hours: 9309	9				
		5	Services				
	Service Code	Service Description				Esti	mated Hours
MAINTENANCE							
[√]	R&R CYLINDER	REMOVE AND REPLA	CE CYLINDER				2.00
			Parts				
Part #	Descript	ion	Location	Unit of Measure	Unit Cost	Quantity	Total
70003226	ROTOBE	EC GRAPPLE CYLINDER	LUMBER WAREHOUSE[]	EACH	\$2535.810	1.00	\$2535.81
		Si	gnatures				
Status	Note			Record	ded By	Date	

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

575-345

O RING



\$0.000

1.00

\$0.00

Work Order # 25842 [CYLINDER REPAIR] Status ACTIVE Entity Name Battle Lumber Co. Budget 3200 BATTLE TIMBER Created 4/22/2021 CREW3 **Priority** Normal **Assigned** Randy Wilkerson Due Work Type CORRECTIVE Customer Completed **Asset** Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR Category HEAVY EQUIPMENT Model 325D Type KNUCKLE BOOM LOADER Serial # C8L01680 Logs **Down Hours:** Hours: **Services** Service Code **Service Description Estimated Hours** STANDARD [√] CYLINDER REPAIR CYLINDER REPAIR 1.00 **Parts** Part # Description Location Unit of **Unit Cost** Quantity Total Measure 568-345 OR-70NBR-4x3/16-C/S, O-RING LUMBER EACH \$0.000 1.00 \$0.00 WAREHOUSE []

LUMBER

WAREHOUSE []

EACH

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Schedule

500 HOUR SERVICE

Work Order # 26040 [STANDARD] Status COMPLETED

Entity Name Battle Lumber Co. Budget 3200 BATTLE TIMBER Created 4/27/2021

CREW3

Priority Normal Assigned James Rogers Due

Work Type 500 HR SERVICE Customer Completed 4/29/2021

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM]

Group Tree \3200 BATTLE TIMBER CREW3

Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 1.500000 **Hours:** 9398

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[] 500 HR SERVICE 500 HR SERVICE 1.00

Parts

		raits				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
326-1644	CAT FUEL/WATER SEPERATOR FILTER (33606)	LUMBER WAREHOUSE[]	EACH	\$34.510	1.00	\$34.51
6128	NAPA FILTER AIR COND	LUMBER WAREHOUSE[]	EACH	\$7.360	2.00	\$14.72
400243	HYDRAULIC FILTER	LUMBER WAREHOUSE[]	EACH	\$37.640	1.00	\$37.64
15W40BULK	RUBIA OPTIMA 1100 CK4 15W40	LUMBER WAREHOUSE[]	QUARTS	\$2.013	28.00	\$56.35
57791	OIL FILTER	LUMBER WAREHOUSE[]	EACH	\$12.410	1.00	\$12.41
46607	AIR FILTER	LUMBER WAREHOUSE[]	EACH	\$46.020	1.00	\$46.02
46595	AIR FILTER	LUMBER WAREHOUSE[]	EACH	\$36.620	1.00	\$36.62
51621	HYDRAULIC FILTER	LUMBER WAREHOUSE[]	EACH	\$21.840	1.00	\$21.84
33640	FUEL FILTER	LUMBER WAREHOUSE[]	EACH	\$21.660	1.00	\$21.66
7896	NAPA HYDRAULIC FILTER	LUMBER WAREHOUSE[]	EACH	\$68.930	1.00	\$68.93
DELO 15W40 GAL.	DELO 15W40 GALLONS	LUMBER WAREHOUSE []	GALLONS	\$0.000	7.00	\$0.00

Rainey, Troy: 6/9/2021 6:56:49 AM

	Signatures						
Status	Note	Recorded By Date					
NEEDS REVI		James Rogers	4/29/2021				

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 26115 [Busted hydraulic hose] Status COMPLETED

Entity Name Battle Lumber Co. Budget 3200 BATTLE TIMBER Created 4/28/2021

CREW3

Priority Normal Assigned James Rogers Due

Work Type CORRECTIVE Customer Completed 4/28/2021

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.750000 **Hours:** 9379

Services

Service Code Service Description Estimated Hours

MAINTENANCE

 $\llbracket \sqrt{ } \rrbracket$ REPLACE HOSE REPLACE HOSE 1.00

Parts

		i ui io				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
T7040-1221	1221 JIC FEMALE FITTING	LUMBER WAREHOUSE[]	EACH	\$0.000	1.00	\$0.00
H6012D	3/4' DIEHARD ISOBARIC SPIRAL 6000 PSI MSHA FRAS AR	LUMBER WAREHOUSE []	FEET	\$9.740	12.00	\$116.88
T7800-1219	1219 ORFS FEMALE FITTING	LUMBER WAREHOUSE []	EACH	\$16.210	1.00	\$16.21
6500-16-16-FG	FJIC-MJIC-SWIVEL-90	LUMBER WAREHOUSE []	EACH	\$0.000	1.00	\$0.00

C:~	 4	
Sig		
0.9	 ·и.	-

StatusNoteRecorded ByDateNEEDS REVIEWJames Rogers4/28/2021

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order # 26751 [Fuel]

Entity Name Battle Lumber Co. Budget 3200 BATTLE TIMBER Created 5/12/2021

CREW3

Priority Normal Assigned Michael Wilson Due

Work Type PREVENTIVE Customer **Completed** 5/12/2021

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 Hours: 9487

Services

Service Code **Service Description Estimated Hours**

MAINTENANCE

[√] **FUEL FUEL** 0.50

Parts Part # Description Location Unit of **Unit Cost** Quantity Total Measure #25 OFF ROAD DIESEL OFF ROAD DIESEL **GALLONS** \$0.000 83.00 \$0.00

LUMBER WAREHOUSE []

Signatures

Status Note **Recorded By Date**

NEEDS REVIEW 5/12/2021 Michael Wilson

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order # 26788 [Hydraulic leak] Status COMPLETED

Entity Name Battle Lumber Co. Budget 3200 BATTLE TIMBER Created 5/13/2021

CREW3

Priority Normal Assigned James Rogers Due

Work Type CORRECTIVE Customer Completed 5/13/2021

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.750000 **Hours:** 9507

Services

Service Code Service Description Estimated Hours

MAINTENANCE

 $\llbracket \sqrt{ } \rrbracket$ REPLACE HOSE REPLACE HOSE 1.00

		Parts				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
H6012D	3/4' DIEHARD ISOBARIC SPIRAL 6000 PSI MSHA FRAS AR	LUMBER WAREHOUSE[]	FEET	\$9.740	12.00	\$116.88
T7040-1221	1221 JIC FEMALE FITTING	LUMBER WAREHOUSE[]	EACH	\$0.000	1.00	\$0.00
T7800-1219	1219 ORFS FEMALE FITTING	LUMBER WAREHOUSE[]	EACH	\$16.210	1.00	\$16.21

Signatures	3
------------	---

StatusNoteRecorded ByDateNEEDS REVIEWJames Rogers5/13/2021

Rainey, Troy: 6/9/2021 6:56:49 AM

91425

Work Order # 27354 [Swap grapples.] Status COMPLETED

Entity Name Battle Lumber Co. Budget 3200 BATTLE TIMBER Created 5/27/2021

CREW3

Priority Normal Assigned James Rogers Due

Work Type CORRECTIVE Customer Completed 5/27/2021

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Services

Down Hours: 3 Hours: 9572

Service Code Service Description Estimated Hours

MAINTENANCE

 $[\!\sqrt{}\!]$ CHECK ALL FLUID CHECK ALL FLUID LEVELS 0.25 LEVELS

 $[\sqrt{}]$ SWAP OUT GRAPPLE SWAP OUT GRAPPLE 9.00

Parts Part # Description Location Unit of **Unit Cost** Total Quantity Measure AW46 AZOLLA ZS AW46 LUMBER QUARTS \$1.270 48.00 \$60.96 WAREHOUSE [] 15W40BULK RUBIA OPTIMA 1100 CK4 15W40 LUMBER **QUARTS** \$2.080 5.00 \$10.40 WAREHOUSE []

Signatures

Status Note Recorded By Date

NEEDS REVIEW James Rogers 5/27/2021

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 27479 [Fix hydraulic hoses.] Status COMPLETED

Entity Name Battle Lumber Co. Budget 3200 BATTLE TIMBER Created 5/31/2021

CREW3

Priority Normal Assigned James Rogers Due

Work Type CORRECTIVE Customer Completed 6/1/2021

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 **Manufacturer** CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 1.500000 **Hours:** 9572

Services

Service Code Service Description Estimated Hours

MAINTENANCE

 $\llbracket \sqrt{ } \rrbracket$ REPLACE HOSE REPLACE HOSE 1.00

Parts

		raits				
Part #	Description	Location	Unit of Measure	Unit Cost	Quantity	Total
T28D	EXCEEDS SAE 1/2' 100R2AT DIEHARD COVER	LUMBER WAREHOUSE[]	FEET	\$2.450	6.00	\$14.70
T2800-0813	0813 ORFS FEMALE	LUMBER WAREHOUSE[]	EACH	\$6.730	2.00	\$13.46
T2840-0813	0813 ORFS MALE	LUMBER WAREHOUSE []	EACH	\$7.119	2.00	\$14.24
T7800-1219	1219 ORFS FEMALE FITTING	LUMBER WAREHOUSE []	EACH	\$16.210	2.00	\$32.42
T7840-1219	1219 ORFS MALE FITTING	LUMBER WAREHOUSE []	EACH	\$15.960	2.00	\$31.92
H6012D	3/4' DIEHARD ISOBARIC SPIRAL 6000 PSI MSHA FRAS AR	LUMBER WAREHOUSE[]	FEET	\$9.740	6.00	\$58.44
		Signatures				

Rainey, Troy: 6/9/2021 6:56:49 AM

Status	Note	Recorded By	Date
NEEDS REVIEW		James Rogers	6/1/2021
Ji mmu			

Rainey, Troy: 6/9/2021 6:56:49 AM

91425



Work Order # 27734 [Hydraulic leak] Status COMPLETED

Entity Name Battle Lumber Co. Budget 3200 BATTLE TIMBER Created 6/4/2021

CREW3

Priority Normal Assigned James Rogers Due

Work Type CORRECTIVE Customer Completed 6/4/2021

Asset

Asset ID 91425 [325D CAT KNUCKLE BOOM] Schedule

Group Tree \3200 BATTLE TIMBER CREW3 Manufacturer CATERPILLAR

Category HEAVY EQUIPMENT Model 325D

Type KNUCKLE BOOM LOADER Serial # C8L01680

Logs

Down Hours: 0.500000 **Hours:** 9573

Services

Service Code Service Description Estimated Hours

MAINTENANCE

[√] HYDRAULIC LEAK HYDRAULIC LEAK 2.00

Parts

 Part #
 Description
 Location
 Unit of Measure
 Unit Cost Quantity
 Total Total Total Measure

 T7800-1219
 1219 ORFS FEMALE FITTING
 LUMBER
 EACH
 \$16.210
 1.00
 \$16.21

WAREHOUSE []

Signatures

Status Note Recorded By Date

NEEDS REVIEW James Rogers 6/4/2021